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Instruction :  Figures right to indicate marks.

Section — I

Answer the following questions (any three) :

Explain the law of demand with help of utility analysis. 14
Discuss the characteristics of indifference curve. 14
Explain the consumer’s equilibrium with help of indifference curve and price line. 14
Explain the changes of price line on places and slope. 14

Give the meaning of price elasticity of demand and explain the factor affecting on price
elasticity. 14

Discuss the types of income elasticity of demand. 14

Give the meaning of Production function and discuss the characteristics of production
function. 14

Explain the law of variable proportion. 14
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Section — I1

9.  Answer the following Multiple Choice Questions : (Any Four)
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At the consumer equilibrium point, indifference curve and budget line

each other.
(a) cut (b) touch
(c) separate (d) None of these

Indifference curve indicated consumer’s .
(a) Income (b) Choice
(c) Limitation (d) Price

Marginal substitute rate is always
(a) Positive (b) Negative
(c) Parallel to X-axis (d) Parallel to Y-axis

Income Elasticity of Demand for an inferior goods are
(a) Positive (b) Negative
(c) Zero (d) Infinity

Which line is Horizontal ?
(a) Perfectly elastic demand (b) Perfectly inelastic demand
(¢)  Unitary elastic demand (d) Elastic demand

Marginal production mean
(a) Production of first unit (b) Production of last unit

(c) Production of additional unit (d) Production of middle unit

In which stage of the law of variable proportions the marginal product become

negative ?
(a) first (b) second
(¢) third (d) None

Who introduced the law of diminishing production ?
(a) Marshall (b) Chamberline
(c) Robinson (d) Pigou
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Section — I

8.

Answer the following questions any three :

Explain the characteristics of Indifference curve. 14

Explain the concepts of diminishing Marginal rate of substitution. 14

Give the meaning of Production function and discuss the types of production function. 14

Explain the law of variable proportion with the help of the diagram. 14
Give the meaning of perfect competition and state its characteristics. 14
Give the meaning of Monopoly and explain its characteristics. 14

Give the definition of Monopolistic Competition and explain the short run equilibrium
of this firm. 14

What is Price discrimination ? When it is Possible and Profitable ? Discuss. 14
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9.  Answer the following Multiple Choice Questions : (Any Four)
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Giffen goods are
(a) Luxury goods (b) Inferior goods
(c) Capital goods (d) Prestige goods

Marginal substitute rate is
(a) always positive (b) always negative

(c) zero (d) constant

Consumer Equilibrium means

(a) Situation of maximum income

(b) Situation of maximum cost

(¢) Situation of maximum consumption

(d) Situation of satisfaction

Which of the following is the feature of Iso-quant ?
(a) Positive slope (b) Concave of origin

(c) Parallel to X-axis (d) Negative slope

Law of diminishing productivity is terms of .
(a) Short (b) Long
(c) Medium (d) Modern

Equilibrium under Perfect Competition .
(a) M.R.=AR (b) M.R.<AR.
(c) MR.>AR (d M.R.#AR.

Under Monopoly Market, Number of consumers are
(a) Only one (b)  Only two
(c) Large numbers (d) None of these

In which market, selling cost is the main feature ?
(a) Perfect competition (b) Monopoly
(c) Monopolistic competition (d) Oligopoly



